

UNIVERSITY OF THE PHILIPPINES LOS BANOS

Los Banos, IV-A

VAT Reg. TIN: 000-864-006-00004

Request for Quotation/ Bid Form (Technical Specifications) BIOMECH CEAT

UPLB BAC SECRETARIAT
BY: MAL DATE: WOT/21

NOV 0 3 2021

UPLB-RQ- 10-076-21-1 - lam DEADLNE OF SUBMISSION

		-	
UP	ι н.	\sim	1

DEADLINE OF SUBMISSION:

Suppliers Name:	Date	May 05, 2021
	Fund Code:	3206001
	MOP:	
	Contact No:	536-3606
	Contact Person	Jonathan C. Orozco

Please quote your lowest price on the item/s listed below, subject to the General Conditions below.

- 1. Bidders shall provide correct and accurate information required in this form. All entries must be typewritten or in print and properly accomplished. Do not leave blank entries, put N/A for not applicable.
- 2. Price quotation/s to be denominated in Philippine Peso shall include all taxes, duties, and/ or levies payable.
 3. Bidders must indicate the BRAND and MODEL NUMBER for equipment and its accessories or peripherals. Evidence shall be in the form of manufacturer's un-amended sale literature, unconditional 3. bloders must indicate the provide and words. Nowberk for equipment and its accessories or periprierials, evidence shall be in the statement of specification and compliance issued by the manufacturer and sample.

 4. Quotation through fax/email is acceptable. Winning bidder shall submit original signed RQ before issuance of Puchase order (P.O.).

 5. Quotations exceeding the Appoved Budget for Contract shall be rejected.

 6. Documentary requirements per Memorandum No. 03 Series of 2017 shall be attached upon submission of the quotation.

ITEM No.	7. Others: GENERAL NAME OF THE ITEM	REQUIRED SPECIFICATIONS	UNIT OF MEASURE	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	ESTIMATED TOTAL APPROVED BUDGET OF THE CONTRACT	OFFERED SPECIFICATION Suppliers must state here the detailed technical specifications of their offer against each of the individual parameters of each sequirements.	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank. For BAC/ Evaluators only)
1	Angle bar	steel, 3.5mm thick x 32mm wide x 6m long; conforming to Philippine National Standard	pc \	10	615.00	6,150.00				
2	Angle bar	steel, 3.5mm thick x 38mm wide x 6m long; conforming to Philippine National Standard	pc	10 ,	840.00	8,400.00				
3	Angle bar	steel, 4.0mm thick x 32mm wide x 6m long; conforming to Philippine National Standard	pc	10	660.00	6,600.00				
4	Angle bar	steel, 4.0mm thick x 38mm wide x 6m long; conforming to Philippine National Standard	pc	10	900.00	9,000.00				
5	Aviation snip	straight, material CrMo or chrome molybdenum steel; ergonomic hand grips with anti slip hand guard made with plastic and rubber; size 250mm or 10 inches; can cut 1.2 mm cold rolled steel sheet and 0.7mm stainless sheet; with hook for closing blades	pc	3	640.00	1,920.00				
6	Aviation snip	turns left for right handed user, material CrMo or chrome molybdenum steel; ergonomic hand grips with anti slip hand guard made with plastic and rubber; size 250mm or 10 inches; can cut 1.2 mm cold rolled steel sheet and 0.7mm stainless sheet; with hook for closing blades	pc	3	640.00	1,920.00				
7	Ball pein hammer	with 255 grams/8 oz. head, wood or fiberglass handle	pc	5 ,	885.00	4,425.00				
8	Ball pein hammer	with 450 grams/16 oz. head, wood or fiberglass handle	рс	5	1,080.00	5,400.00				
9	Center punch	industrial grade; automatic; non-slip knurled shell; has a spring loaded hammer; chrome vanadium steel thimble; spherical shaped plastic handle; approximate dimensions 130 mm total length x 13 mm diameter shell x 4 mm diameter punch	pc	7	238.00	1,666.00				

ITEM No.	GENERAL NAME OF THE ITEM	REQUIRED SPECIFICATIONS	UNIT OF MEASURE	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	ESTIMATED TOTAL APPROVED BUDGET OF THE CONTRACT	OFFERED SPECIFICATION Suppliers must state here the detailed technical apacifications of their other against such of the individual parameters of each requirements.	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank. For BAC/ Evaluators only)
10	Center punch	made of high carbon steel or chrome vanadium steel; 3 pcs per set with punch sizes 1.5, 2 and 3 mm diameter; hammering end is square about 23 mm along the body; approximate body diameter or width 8 mm; approximate total length 101 mm; typical color black; body is knurled for good grip;	set	5	250.00	1,250.00				
11	Ceramic tile drill bit	tungsten carbide tip; can be mounted to portable drill with 3-jaw chuck; includes five sizes 3, 4 5, 6 and 8 mm; drill point is more pointed than the ordinary masonry bits	set	4	360.00	1,440.00				
12	Claw hammer	with wooden handle, 450 grams/16 oz head	pc	3	530.00	1,590.00				
13	Cold chisel	3/4 inch width, flat	pc \	4	330.00	1,320.00				
14	Cold chisel	1/2 inch width, flat	pc	4	225.00	900.00				
15	Cold chisel	1/4 inch width, flat	pc	4	100.00	400.00				
16	Cold chisel	3/8 inch width, flat	pċ	4	132.00	528.00				
17	Crosscut saw	18 inches long, 7T/8PT (7 teeth/8 points per inch); wooden handle	pc	2	1,500.00	3,000.00				
18	Door closer	pneumatic, approximate size of cylinder 1-1/4 inch diameter x 9 inches long; typical application aluminum screen door	рс	3	350.00	1,050.00				
19	Faucet	ball faucet type, wall mounted, with ball valve and lever type handle, quarter turn, with hose bib; with 1/2 NPT; made of metal; with hexagonal drive	pc	6	450.00	2,700.00				
20	Faucet	wall mounted, with lever type handle, quarter turn, 6 inches long, with 1/2 NPT; made of plastic; color red, blue, beige or white; with hexagonal drive	pc	6	100.00	600.00				
21	Hacksaw	with tubular steel frame and die cast handle, fitted with 12 inches long bimetal blade, adjustable blade position by 90 degrees; wing nut is at the front end opposite the handle; typical colors are blue frame and gray handle	pc	10	778.00	7,780.00				
22	Hinge	stainless steel, ordinary butt, with stainless philipps head screws, 1-1/2 inch square open; at least 1 mm thick	pc	10	85.00	850.00				
23	Hinge	stainless steel, ordinary butt, with stainless philipps head screws, 2 inches square open; at least 1 mm thick	рс	10	100.00	1,000.00				
24	Hinge	steel, ordinary butt, with philipps head screws, 1-1/2 inch square open	рс	10	20.00	200.00				
25	Hinge	steel, ordinary butt, with philipps head screws, 2 inches square open	pc	10	30.00	300.00				
26	Leveling bar or spirit level	with three bubble tubes; made of aluminum bar and plastic and/or rubber accessories; can level horizontal, vertical and 45 degrees; accuracy is 0.5 mm per 1 meter; has magnet at least on one edge for mounting on steel	рс	2	1,170.00	2,340.00				

ITEM No.	GENERAL NAME OF THE ITEM	REQUIRED SPECIFICATIONS	UNIT OF REASURE	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	ESTIMATED TOTAL APPROVED BUDGET OF THE CONTRACT	OFFERED SPECIFICATION Suppliant must state here the detailed technical apacifications of their offer against each of the individual parameters of each (squirements).	QUOTED UNIT	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank. For BAC/ Evaluators only)
27	Leveling bar or spirit level	with three bubble tubes; made of aluminum bar and plastic and/or rubber accessories; can level horizontal, vertical and 45 degrees; accuracy is 0.5 mm per 1 meter; has magnet at least on one edge for mounting on steel	pc	2	680.00	1,360.00				
28	Locking C-	size 11 inches long;	pc	6	930.00	5,580.00				
20	Clamp	approximate jaw width 4 inches	ret	4	250.00	1,000.00				
29	wasonry unit	4, 5, 6, 8 and 10 mm, with box	set	-	230.00	1,000.00				
30	Masonry drill	carbide tip, 3/8 inch or 10 mm diameter, at least 250 mm long but not more than 350 mm	рс	2	430.00	860.00				
31	Masonry drill	carbide tip, 5/16 inch or 8 mm diameter, at least 250 mm long but not more than 350 mm	рс	2	410.00	820.00				
32	Masonry drill	carbide tip, plain shank, 1 inch diameter	рс	2	640.00	1,280.00				
33	Masonry drill	carbide tip, 1/4 inch or 6mm diameter, at least 250 mm long but not more than 350 mm	рс	2	400.00	800.00				
34	Masonry drill	carbide tip, plain shank, 1/2 inch diameter	рс	2	176.00	352.00				
35	Masonry drill	carbide tip, plain shank, 3/4 inch diameter	pc	2	440.00	880.00				
36	Masonry drill	carbide tip, plain shank, 5/8 inch diameter	pc	2	260.00	520.00				
37	Masonry drill	carbide tip, plain shank, 7/8 inch diameter	pc	2	560.00	1,120.00				
38	Masonry drill	includes sizes 3, 4, 5, 6, 7, 8, 9 and 10 mm, with box	pc	12	1,120.00	13,440.00				
39	Masonry drill	includes sizes 5/32, 3/16, 1/4, 5/16 and 3/8 inch	pc	4	280.00	1,120.00				
40	Milling Cutter	Type is side milling cutter with straight teeth; material high speed steel (HSS); outside diameter of 100mm, inside diameter/bore of 27mm; width 10mm; at least 22 teeth	pc	2	14,950.00	29,900.00				
41	Paint	QDE, delft blue, 1liter per can	can	10 .	275.00	2,750.00				
42	Paint	QDE, white, 1 liter per can	can	12	220.00	2,640.00				
43	Paint	primer, red oxide, 1 liter per can	can	16 ,	175.00	2,800.00				
44	Paint	silver finish aluminum, 1 liter per can packaging	can	10	210.00	2,100.00				
45	Pipe wrench		pc ,	2	600.00	1,200.00				
46	Pipe wrench	14 inches long, heavy duty	pc	12,	750.00	1,500.00				
47	Pipe wrench	18 inches long, heavy duty	pc	2	950.00	1,900.00				
48	Pipe wrench	heavy duty, 10 inches long	pc	2,	476.00	952.00				
49	Pipe wrench	heavy duty, 8 inches long	pc	2	336.00	672.00				
50	Portable angle grinder	rated power input 1400 watts, 220- 230 VAC, for 125 mm disc diameter; type of wheel depressed center with 22.2 mm bore; with thumb accessible sliding switch; with handle; spindle thread M14; rotatable head at 90 degree increments; double insulated; includes wrench and wheel guard	pc	2	14,500.00	29,000.00				

ITEM No.	GENERAL NAME OF THE ITEM	REQUIRED SPECIFICATIONS	UNIT OF MEASURE	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	ESTIMATED TOTAL APPROVED BUDGET OF THE CONTRACT	OFFERED SPECIFICATION Suppliers must state here the detailed technical specifications of their offer against each of the individual parameters of each requirements.	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank. For BAC/ Evaluators only)
51	Portable angle grinder	rated power input 750 watts, 220-230 VAC, for 100 mm disc diameter; type of wheel depressed center with 16 mm bore; with thumb accessible sliding switch; with handle; spindle thread M10; with rotatable head at 90 degree increments; double insulated; includes wrench and wheel guard	рс	2	8,700.00	17,400.00				
52	Puller	heavy duty, 3-jaw, reversible, size 10 inches	pc \	1	1,856.00	1,856.00				
53	Puller	heavy duty, 3-jaw, reversible, size 12 inches	pc \	1 >	2,296.00	2,296.00				
54	Puller	heavy duty, 3-jaw, reversible, size 4	pc \	1	776.00	776.00				
55	Puller	heavy duty, 3-jaw, reversible, size 6 inches	pc \	1 ,	976.00	976.00				
56	Puller	heavy duty, 3-jaw, reversible, size 8 inches	pc (1	1,296.00	1,296.00				
57	Retaining ring pliers	with cushioned grip, size 7 inches long; nickel plated carbon steel; 4 pcs per set, includes 1 pc external straight, 1 pc external 90 degrees, 1 pc internal straight and 1 pc internal 90 degrees	set	2	1,042.00	2,084.00				
58	Riveter	for aluminum blind rivet, heavy duty, with four nose pieces 3/32, 1/8, 5/32 and 3/16 inch rivets	рс	2	885.00	1,770.00				
59	Screen	welded wire, galvanized, 1/8 inch mesh, at least 3 feet width x 3 meters	pc	1	440.00	440.00				
60	Screen	welded wire, galvanized,1/4 inch mesh, at least 3 ft width x 3 meters	pc	1 ,	330.00	330.00				
61	Screw extractor	material CrV or chrome vanadium steel; at least 5 pcs per set with sizes covering 3 to 18 mm	рс	2	450.00	900.00				
62	Screw	flat head, Philipps drive, galvanized steel or brass, no. 4 X 1/2 inch long; application piano hinge; 144 pcs per gross	pc	1440	1.50	2,160.00				
63	Scriber	for marking on steel, single end, with tip made of hardened alloy steel; body made of metal and knurled for good grip; has a collet for affixing the tip; approximate length is 12.5 cm and body diameter 6.5 mm	pc	10	276.00	2,760.00				
64	Sledge hammer	with fiberglass handle, about 2 lbs head	pc \	1,	480.00	480.00	*			
65	Sledge hammer	with fiberglass handle, about 3 lbs head	pc	1	690.00	690.00				
66	Sledge hammer	with fiberglass handle, about 4 lbs head	pc \	1	820.00	820.00				
67	Spring Divider	size 300 mm/12 inches, for layout and marking on steel; has two hardened points for marking or turning; has flat legs held on the ends by circular flat spring; has screw type adjustment for radius; thumb nut is is knurled for good grip	pc	5	1,500.00	7,500.00				
68	Steel tape	English and metric scales; yellow background; black graduations and digits; with lock; at least 12 mm to 1/2 inch tape width; with belt clip; 3 meters long	pc	10	150.00	1,500.00				

No.	GENERAL NAME OF THE ITEM	REQUIRED SPECIFICATIONS	UNIT OF MEASURE	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT		OFFERED SPECIFICATION Suppliers must alotte here the dehalled technical specifications of their offer against each of the individual parentaines of each requirements	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank. For BAC/ Evaluators only
69	Steel tape	English and metric scales; yellow background; black graduations and digits; with lock; at least 12 mm to 1/2 inch tape width; with belt clip; 5 meters long	pc	4	280.00	1,120.00				
70	Stove bolt with nut	galvanized, 1/8 NC x 1/2 inch	pc *	100	4.00	400.00				
71	Stove bolt with nut	galvanized, 1/8 NC x 3/4 inch	pc \	100	4.25	425.00				
72	Stove bolt with nut	galvanized, 1/8NC x 1 inch	bc /	100	4.50	450.00				
73	Supply hose for lavatory or water closet	1/2 x 1/2 NPT fittings, with stainless steel braid, 12 inches long	pc	5	380.00	1,900.00				
74	Supply valve for lavatory or water closet	1/2 x 1/2 thread, with hexagonal drive	pc	5	400.00	2,000.00				
75	Tap wrench	no. 0, can hold M1 to M6; with knurled handle	рс ,	5	660.00	3,300.00				
76	Tap wrench	no. 4, can hold M3 to M12, with knurled handle	pc ·	5	735.00	3,675.00				
77	Tap wrench	no. 5, can hold M4 to M12	pc	2	885.00	1,770.00				
78	Tap wrench	no. 6, can hold M6 to M20, with knurled handle	рс	2	1,560.00	3,120.00				
79	Welding machine	portable, inverter type; MMA (manual metal arc welding or shielded metal arc welding); with IGBT (Insulated Gate Bipolar Transistors), capacity 400 amperes; duty cycle 60 percent or higher; input 220 volts AC; has digital LED indicator; has three control knobs for current, arc force and hot start; all controls are continuous or stepless; has LED indicator for temperature; has metal enclosure and cooling fan; has on-off switch; includes welding cables with electrode holder, ground clamp, and connectors; weight about 5.2 kg	pc	1	6,500.00	6,500.00				
80	Flat Bar	Stainless Steel 1/4" x 1" x 20ft	pc	10	2,560.00	25,600.00				
81	Flat Bar	Stainless Steel 5/16" x 2" x 20ft	рс	10	6,750.00	67,500.00				
82	Stainless Steel Shaft	2 1/2" dia x 3ft	рс	1	6,000.00	6,000.00				
83	Stainless Steel Sheet	T-304, 1.0mm x 1220mm x 2440mm, mirror finished one side	pc	6	5,850.00	35,100.00				
84	Stainless Steel Sheet	T-304, 1.2mm x 1220mm x 2440mm, mirror finished one side	pc	10	7,500.00	75,000.00				
85	Stainless Steel Sheet	T-304, 2.0mm x 1220mm x 2440mm, mirror finished one side	pc	1	9,720.00	9,720.00				
			/		TOTAL ABO	466,889.00				
							TOTAL QUOTED AMOUNT IN V	VORDS:		

Reviewed and Checked By:

Eng: Donny Rey Camus

BACTWG 204-2021

Please quote at your government price (including VAT) and state that the time within which you can make delivery. It will be appreciated if we can have your quotation in the office as soon as possible on or before the deadline stated herein.

JONATHAN C. OROZCO

JONATHAN C. OROZCO Reviewed and Checked By:

JONATHAN C. OROZCO BUYER/ END-USER

1. Price quotation/s shall be valid for a period of at least (30) calendar days from the date of submission.

2. In order to assure that manufacturing defects shall be corrected by supplier, a warranty security shall be required from the contract awardee for a minimum period of three (3) months, in the case of EXPENDABLE SUPPLIES, or a minimum of one (1) year warranty and two (2) to three (3) years extended warranty (if applicable) in the case of NON-EXPENDABLE SUPPLIES after acceptance by End-user of the delivered supplies.

3. Delivery period within ____ calendar days.

Award of contract shall be made to the lowest quotation wich complies with the technical specifications, and other terms and condition stated herein
 UPLB reserves the right to reject any or all offers as may be considered most advantageous to the University.

6. Any interlineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any of your duly authorized representative/s.

ITEM No.	GENERAL NAME OF THE ITEM	REQUIRED SPECIFICATIONS	UNIT OF MEASURE	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	ESTIMATED TOTAL APPROVED BUDGET OF THE CONTRACT	OFFERED SPECIFICATION Suppliers must state here the debated lechnical specifications of their offer against each of the individual parameters of each requirements	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank. For BAC/ Evaluators only)
Requir	ements for Suppliers (G	PPB Resolution No. 21-2017)								
	REQUIREMENTS		Shopp (Section		Negotiated Procurement- Small Value Procurement (Section 53.9)	Negotiated Procurement- Lease of Real Property or Venue (Section 53.10)	Negotiated Procurement- Scientific, Scholarty or Artistic Work, Exclusive Technology and Media Services (Section 53.6)	Negotiated Procurement- Emergency (Section 53.2)		
	Mayor's/Business Permi		/		1	/	/	/		
	PhilGEPS Registration N	Management .	1		1	/	/	/		
	Professional license/ CV			100	/		/			
4	PCAB License (for Infras	structure)	e in the second		/					
5	Income / Business tax r	elums (except for government agencies as lessor)			FOR ABOS ABOVE SOOK	/	/	FOR ABC'S ABOVE 50K		
6	Omnibus Sworn Stateme	ent			FOR ABIC'S ABOVE SOK			FOR ABC'S ABOVE 500K		
7	NFCC for Infrastructure	with ABC above Ph500k			/			FOR ABC'S ABOVE 50K		
	having carefully read of the Company:	and accepted your General Conditions,	I/We quote	you o	n the Item at pric	es noted above.				
Addre	SS:					Tel. No. :				
	7					Fax No.:				
	ture over Printed of Representative:				-	Email Address:				
Position	on:				-	Date:			•	